
Quiz 8 11.6: Absolute/Conditional Convergence, Ratio Test, and Root Test 
• Determine the convergence/divergence of the following series.  
• If the series converges, classify convergence as absolute or conditional.   

o Remember that to conclude a series is conditionally convergent, you need to show both that it is 
convergent, but not absolutely convergent 

• Show all work neatly and with extremetly clear presentation, naming any test used and showing that all 
requirements have been met. 
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